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RERECUTRAEORE  ETEUBESH « 571 ~ 5 » UATEBRHE »
BAEEBAEN DS LHRFH o DBASPL » BEMISEAE ( resource Der-
son) )BT RAE RIE LA o BAMBEIER > BEEE - TEHRE (EEH » £
FWLE“ Project” ) RHMRMGEM » MERIFH HR o FEENOFE » T2
» BAKH A Project B » —i8 45 MM Project » B 4 7 LI 7 AR »
S BIEBEKEER  BMS T SR TIE - TRE sk
DTS % ( Project ) » —fd Project B 38 A A 75 5 69 BRI 5525 » fin 1S AT LLE
SR 5 (BRI T BB B » AT LR B A RS T - M DEBFNEE
Fik o TRERFEENSL: » TEIESERG SO B RUAIES » EF 1 »
B T B R AT LSBT R E 1 T » BB i — 86/ B Project o ZEMEER K »
Project (958 M & Rt /NB B EME AT LMBH HEHES » (525 EEEM
SH—ETHK > AT LKERITOEH > B0 > BRI HE— BT » BTNEA g < BT
MI% " 89 Project o e M » EFALIEMES ~ GISE ~ N ~ RIEA S ~ WETHELR
HEH -BEZBRMPXBEEO@AA EEEE | ( Pythagoras Theorem ) {ESES
BB Project BOEEH o 4TS B BURS B S 5 o

L BANUAESHRARKERGEAERN » HEHHARE TEEE » 4R
B EH o

2. BATHUBEABREETBHEL o

(8) AR —— BB/ AT LA IR A U B A & B B 1 o
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(b) %EEE%&——E%@B@EP%@(%E%%W transformation B K EB
( isometry ) KBEHL2EW » R—FEMH I SAS ~ SSS ~ HASA o
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WEFHNABE =AAFC > WU —EAABE LB BB L |- » Bl ARL s tRIE
Rest H @i+ E > 8l B—F , E—-C , A-A
meER FB/\ABE 2E% TAAFC
wE ANAABE = AAFC

(%&£ transformation geometry o> RERHMAEERBHTERTLES - B
2F > HHA REFBLEHFREE  h i BNBEHRAB) o

BE AABE = AACE = %D ACDE
E AAFC = AAFX = %IZIAXYF

i [JACDE =[JAXYF

B [JBCIH =[JBXYG

% [JACDE + [JBCIH =[] ABGF

b? +a? = ¢?
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MEFE=EEES : 12 : 136=AW » %4527k BEp o

it RKESW ENREREHREFHRE o
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() RFRBAFEE ‘

FEMEKRZAMELAFHES L ( Ontario Science Centre , Toronto, Canada
) BA—ER VR L EHARA » £—BHR L= EEHEIBMRMNIE TS BE
—EA=AR=2 L BEBDEST - BRTK  ARERE L » KEHBEMHEA
FERLE LRRIESESA » BHFER » REERRE HBHHEK - KXBAEHHHE
ZUNEFHA o MR E » FT REKERE o WP RT LI B A B AL B > "L
RSB R AEK o _

) RAEga¥BROEE

® BE— A

H_HEEEA=AEFRZ > Sa~bEREAS > cBfE . BUE—-SEE
A=AFRL c RMEMAS - HE=/Er#R—E#EE ( RBR) -

4 BEEE= AV +AZ+ARA

1 _ 1 L s
'2—(a+b)(a+b)~2(2ab)—rc

al —1—_b2 = c?

i BESR  RMIEEHK - - BT - ‘
ANP=ENZ, o £L1=£3BL2+/3=90°>£2+£1=90°

=B~ -
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® JBEZ A
Flas> bBFE cBAE, MERXS=AF  BAREN—ESFY  BER
INBRRT LA BRI — B KB IE FT ( KBS L) o WEARPR -

(a+b) =4 (gab)+ct

a®+b*=c?

B

2 AR AR EE > BHEEHE  (FRGEREZM -

3. BAWNIFAENARKERMAMME L — oA ER2R=ABRTHERER=
AEmEEE T ERAENMNE - mE=SFEHa >~ b~ cRE—-FEEA=ZAFH=E
(asbosc) BIZBE=#% ( Pythagoras Triples ) c ZEHF » MR a BHH
» bE@EE - Ma > bEE »HE(a- b c)tUHEEERE=ME ( Primitive
Pythagoras Triples ) o

@ FIEREER=MEE(a b c) P c/REER—EEHn (HID
s ¢ X< 30)°

MERFAFE > BREASER G AEM - BEBRZHMBAL » ER2WRRPR
B (EEMBEER calculator 7R7] ) » BB HFERMEHT

BEZEBMRBEREEEF RS
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WELURARRAT TS
BALE c RS o
EISERFT R TAESAS > #5RBn » BESFEMDE £ 1R3
c—1oMBEVT—b R—FEY > ERGREHBamMOM (abe) o

REERPIREREMEAIERBE -

e Wb HHBa=Jc?—b’ RERE & H
5 1 v 24 #®

5 2 V2T B

5 3 4 R (435)

5 4 3 i - (345)

6 1 V35 iR |

29 20 21 7 (21 20 29)

30 29 Vv 59 #®

BEREEFEREBEKEZX (  IBM PCHEHff Comparable Computers ) m

10 CLS
20 PRINT " PYTHAGORAS TRIPLES "
30 INPUT " key in your largest hypotenuse n = ";N.

40 F$= "gisFEs”

50 FOR C=2 TO N

60 FOR B=1 TO C-1

70 Y=SQR(C*C-B*B)

80 IF INT(Y)<>Y THEN 110 ELSE A=Y
90 IF A>B THEN 110

100 PRINT USING F$;A;B;C

110 NEXT B _

120 NEXT C

130 END

@i DOS A BASICA » B FEERBAKRT L R run » ERRERTW
F:
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Run

PYTHAGORAS TRIPLES

key in your largest hypotenuse n.= ? 30
3 4 5 ~
6 8 10
5 12 13
9 12 15
8 15 17

12 16 20
15 20 25
7 24 25
10 24 26
20 21 29
18 24 30

b) FIZEEER=#HH(a b c) BFFHERKARa=m?—n? » b=
2mn > c=m® +n* oftfEm, n HBEEHMAmM>n c HEIESRa » bEE
M=HEFE  HEEREFNT

BAm > nERES (FIIm<5> n<4) BEEEL a > b > c FERE
a» b REEMM » MEH M B =88 o ﬁﬁmAI%?(amﬁwml
machine ) BYBROTF o

Bm Rn Ha=m’—n* Hb=2mn &c=m®+n? R & H
2 1 3 4 5 B (3,4,5)
3 1 8 6 10 #®
3 2 5 12 13 R (5,12,13)

RERUESBRERWT » B run . Program » HAERIR o
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10 CLS

20 PRINT " Primitive Pythagorus Triples"”
25 PRINT

30 PRINT " a =m"2 - n"2 b=2mn cz=m"2 +n"2 "
35 PRINT

40 INPUT "Enter Your Largest m,n =";M,N

45 FOR X=1 TO 1000:NEXT X

47 CLS

48 PRINT " m n a b c "
50 FOR X=1 TO M:FOR Y=1 TO N

60 IF X<= Y THEN 110

TO A=XX¥X-YV*V:B=2%X*Y:C=XXX+YXY

80 AA=A:BB=B:CC=C

90 GOSUB 500

97 F="4¢#73553453"

100 IF GCD = 1 THEN PRINT USIVG F$;X;Y;AA;BB;CC
110 NEXT Y:NEXT X

120 END

500 IF A>B THEN SWAP A,B-

510 R=B MOD A

520 IF R<>0 THEN B=A:A=R:GOTO 510

530 GCD=A

540 RETURN

Run

Primitive- Pythagorus Triples
a=m"2 - n"2 b=2mn ~ec=m”2 +n”2

Enter Your Largest m,n =? 5,5

m n a b c
2 1 3 4 5
3 2 5 .12 . 13
4 1 15 8 17
4 3 ki 24 25
5 2 21 20 29
5 4 9 40 41

Ok

BAEZRBFIZRFVBMELT B O=A8E » BB=%  RETUER :
m b+c=5* BIF c—b=1%2s c—b=3*H=HABKES -
wm b+c=7" BEFE c—b=1*>c—b=3*FKc—b=5> ZHKEHo
it —2K > BRI TEIIREE=MENZ—EHE -
4 b+ c=p? HpREK
Al c—b=q? it q AR AAEMR/NR p BIE B
# c=(p*+q*)/2 , b=(p*—q*)/2 , a=+yc*—b*=pg
m(a, b, c) IBEE=MK-
EEBRFTTLEBEARER » AFEH calculator FIHEZTHFBANEE=
L SRTOE
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Rp2 BRI g’ BE Eb,c Ba=Jc—b & st
b+ ¢ = 35% c—b=1% 612,613 . 35 (35,612,613)
b+c=1232 c¢—b=23% 7560,7569 369 (369, 7560,7569)

BEBHEREN > B run » HERW/R

10 CLS

20 PRINT. ” Primitive Pythagoras Triples”

30 PRINT:PRINT

40 INPUT ”  enter your largest odd number k = ;K
50 PRINT :PRINT USING ™\ \”;” a’s” b”” [
60 FOR P=3 TO K STEP 2

70 FOR Q = 1 TO P-2 STEP 2

80 C=(P*P+Q*Q)/2:B=(P*P-Q*Q)/Z:A=SQR(C*C—B*B)

90 PRINT USING “#ES####8”;4;8;C

100 NEXT @

110 NEXT P

120 END

Run

Primitive Pythagoras Triples

enter your largest odd number k = 7 11

a b c
3 4 5
5 12 13

15 8 17
7 24 25

21 20 29
35 12 37

3 40 41-
27 36 45
45 28 53

63 186 65
11 60 61
33 56 65
55 48 13
11 36 85
93 20 101

Ok

BEhBEAIHNER=/A8K » RARREL M8+ HFLE—BR S5
RIS 8 - ‘



HEAMEANTH TR fTHEE

BAERM TR ST BR KRR -
b=(p—q) (p+a)/2
c=(p°+q®)/2
a = pg HEp > e BREK
ZZDDEJZqEF"75-%58‘~J’r‘é?§5l’EUa%SB’:‘J%ﬁ°ﬂD¢tp&q%7ﬁT§UE§l§$§%§:

p q
A 10K+1 10W+ 1
® 10K+ 3 10W+3
€ 10K+7 10W+ 7
® 10K+9 10W+9

e, (p, q) ALAEEHIL 1675 - ,
® Mm(p,aq)E(A,A)(B,B)(C,C) (D, D)nEr,
p—q=(10K+1)—-(C10W+1) '
=10 ( K—W) = 55 S bEBSHIEE
® m(p,a)E(A,D)(B,C)(C,B) (D, A)rEL:H
P+HaRSHEH - b B 5B -
® wm(p,q)®(A,B)(A,C)(B,A)(B,D)(C,A)
(C,D)(D,B)(D,C)HEN Bilp> +q* BoMEE M cBOMEHK -
BEVDEZLEACEE AWM THIME -
Q1 RABE—TEBESAKRT » BH—BES 3HEH o
Q2 BH—BEEXAXFIE+HAFEREE=/A%  HP_BHNER1 -
FmC 11, 60, 61 )
A4 BASESENEE EEARE +y - 2 WEHBGFEIHBERRESE
By S A %A Fermat Impossibility Theorem»> B4 LI LR BB IEL
| ERERFTLURE=SEK (x, v, z) WEX —y? =2’ s lhilEx, v, 28
. IEEE o '
T - aBE-BAEEETa>1
(x—y) (x+y)=a®
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{x—y:az
X+y=a
% x=a(a+1)/2=(EE#H)

y=a(a—1)/2=(EE%)
REMUZEBER—-EX - BEHHTE=8% -
© (x,y,z)RRx* -y =2"Mz<30>x>yRkzBEBTF&kH-
@ (x,y,z)HBR+y'=2"Mz<100> x> yRk zHSERE -
BT EEE MBI KB REEM Fermat-Euler B#EHE o Eﬂ4n+1Wm
BEOER MBS —EH o
Mz BEREBRR—EHGELEM project RYIFEM o

2EEH

1. Mathematical Quickies Charles Trigg » KEBHEMNKG

2. 100 Great Problems of Elementary Mathematics—— Heinrich Dorrie
» LEHRRFL ©



